

RB

D. ZABDAWI

$$\#10) \sqrt[3]{54} = \sqrt[3]{27 \times 2} = \sqrt[3]{3^3 \times 2} = 3\sqrt[3]{2}$$

$$\#20) \sqrt{5x} \sqrt{20x^3} = \sqrt{100x^4} = 10x^2$$

$$\#30) (\sqrt{5}-2)(\sqrt{5}+3) = 5 + 3\sqrt{5} - 2\sqrt{5} - 6 = -1 + \sqrt{5}$$

$$\#40) 8xy - \sqrt{25x^2y^2} + \sqrt[3]{8x^3y^3}$$

$$8xy - \sqrt{(5xy)^2} + \sqrt[3]{(2xy)^3} = 8xy - 5xy + 2xy = 5xy$$

$$\#50) \frac{-2}{\sqrt[3]{9}} = \frac{-2}{\sqrt[3]{3^2}} = \frac{-2 \sqrt[3]{3}}{\sqrt[3]{3^2} \sqrt[3]{3}} = \frac{-2 \sqrt[3]{3}}{\sqrt[3]{3^3}}$$

$$= \frac{-2 \sqrt[3]{3}}{3}$$

$$\#60) 16^{-3/2} = (2^4)^{-3/2} = 2^{-6} = \frac{1}{2^6} = \frac{1}{64}$$

$$\#70) (xy)^{1/4} (x^2y^2)^{1/2} = (xy)^{1/4} \cdot xy = xy \sqrt[4]{xy}$$

Remember that  $(xy)^{1/4} = \sqrt[4]{xy}$

$$a^{m/n} = \sqrt[n]{a^m}$$

R8

Dr. ZABDAWI

$$\begin{aligned} \#80) & \frac{\sqrt{x^2+1} - \frac{x \cdot 2x}{2\sqrt{x^2+1}}}{x^2+1} \\ &= \frac{\sqrt{x^2+1} - \frac{x^2}{\sqrt{x^2+1}}}{(x^2+1)} \end{aligned}$$

$$= \frac{(x^2+1) - x^2}{(x^2+1)\sqrt{x^2+1}} = \frac{1}{(x^2+1)\sqrt{x^2+1}}$$

Multiply Top and Bottom by  $\sqrt{x^2+1}$

$$\begin{aligned} &= \frac{1}{(x^2+1)\sqrt{x^2+1}} \cdot \frac{\sqrt{x^2+1}}{\sqrt{x^2+1}} \\ &= \frac{\sqrt{x^2+1}}{(x^2+1)^2} \end{aligned}$$

$$\begin{aligned} \#90) & 6x^{1/2}(2x+3) + x^{3/2} \cdot 8 \quad ; \quad x \geq 0 \\ & 12x^{3/2} + 18x^{1/2} + 8x^{3/2} = 20x^{3/2} + 18x^{1/2} \end{aligned}$$

Remember that  $x^{3/2} = \sqrt{x^3} = x\sqrt{x}$

$$\begin{aligned} \rightarrow & 20x^{3/2} + 18x^{1/2} = 20x\sqrt{x} + 18\sqrt{x} \\ & = 2\sqrt{x} [10x + 9] \end{aligned}$$